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Question Number : 1 Question Id : 2549896608 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Recycle Bin is a:

Options :

1. % folder to store deleted files temporarily before permanently deleting them
2. * folder that contains the files used for backup

3. * file that contains information of files on the disk

4. * folder that contains system files

Question Number : 1 Question Id : 2549896608 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



S fo a o 4 wr g?
Options :

1. ¢ fSdiic @1 T8 BIdl & R ®U ¥ Sl H3 U Ugd 38 SRR 0 ¥ Xk $HH & ol hies |
2. % ThiceR ForH d&3U & oy IUTT &1 715 HIsd XM ¢ |

3. % HRd o et IR U B3d &t STHeR! a3

4. % e fored R wigd 2nfia €1

Question Number : 2 Question Id : 2549896949 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is a unique identifier to refer to a specific location in computer memory?

Options :

1. ¥ Memory Address

2. % Value at location

3. # Function of location
4. % Index

Question Number : 2 Question Id : 2549896949 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

HHR TR # foreft fafRry =i 1 Wefifd e & fore e Ry ueareal (Unique Identifier) &1 87

Options :

1. ¢ TR Q@ﬂ (Memory Address)

2. % AHIAWR ac‘l;!\(\/alue at location)

3. % QIHYM B HA-M (Function of location)

4. % 3N (Index)

Question Number : 3 Question Id : 2549898329 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is software with source code that anyone can inspect, modify, and enhance?

Options :



1. ¥ Open-Source
2. % Proprietary
3. ¥ Adware

4. % Ransomware

Question Number : 3 Question Id : 2549898329 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fafiRad o @ o1 91 T Bl ara JiteaR § et o013 +f e, T2nye iR Jae- o Johdl 82
Options :

1. ¢ 3T
2. % YIuTses]
3. % TSAWR
4. % TGARR

Question Number : 4 Question Id : 2549898711 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The keyboard shortcut to minimise desktop window in Windows 10 is:

Options :

1. % Windows key + Down arrow key

2. #* Windows key + Up arrow key

3. ¥ Windows key + Left arrow key

4. % Windows key + Right arrow key

Question Number : 4 Question Id : 2549898711 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

38T 10 (Windows 10) & S%perd fds! & ffAAss H31 & fou Siars 2idee gl
Options :
1. ¢ fd8IS Foll + ST W Fon




2. % fISIST groll + 31 TR il
3. % 4S9 Pl + dte T il

4. % IS Foll + IZ€ W Foft

Question Number : 5 Question Id : 2549899356 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following are simple scanners that have the limitation of scanning paper documents only?

Options :

1. % Sheetfed

2. % Flat bed

3. # Handheld

4. % Handdown

Question Number : 5 Question Id : 2549899356 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
FafRad o 9 SF 91 WRd 1R ¢ o Had HIToN Geardell o I B $I ST Bich 572

Options :

1. ¢ Tficths
2. % TIC IS
3. % §So
4. % I3

Question Number : 6 Question Id : 25498911567 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If a soft copy is an intangible output, then what is a hard copy?

Options :

1. # A physical part of the computer.

2. % A virtual copy of the printout.



3. ¥ A digital document printed on paper.
4. ® A physical output device.

Question Number : 6 Question Id : 25498911567 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

TS Tte HIU T 3 3M3TYe & ol g1 Hiul g A J g2
Options :

1. % S ] thisTdhel HFT

2. % g Mieanse ol e aidt @

3. ¢ BT W Gfad fefSied axamaw

4. % fipfoThdl 3M3CYC fSarsy

Question Number : 7 Question Id : 25498911752 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A half byte is known as

Options :

1. % bit

2. % data

3. % nibble

4. % half bit

Question Number : 7 Question Id : 25498911752 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

T 319 I8¢ Dl f5g T H ST 51T 82
Options :

1. % foe

2. % 3aI

3. ¢ (eI




4. % 3T fae

Question Number : 8 Question Id : 25498919047 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

When new software is downloaded from the Internet, the installation file will be saved to the computer in the file format.
Options :

1. ¥ exe

2. % .0bj

3. % pdf

4, % xls

Question Number : 8 Question Id : 25498919047 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

O 74T WIFCATR Sex-C J SISAIS fhdT ST §, f SR BIgd BIgd WiHe § Hex # ¥d gl g
Options :
1. ¥ exe
2. % Obj
3. % pdf

4, % xls

Question Number : 9 Question Id : 25498922569 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an example of a proprietary software?

Options :

1. # Microsoft Windows

2. % MacOS

3. % i0S

4, % Linux



Question Number : 9 Question Id : 25498922569 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

FraffEd § 9 SH-a1 TTged SitcdaR &1 IeTevl 78l 22

Options :

1. % ASHNIGe [ds (Microsoft Windows)
2. % T 3NTH (MacOS)

3. % i0S

4. ¢ foFE (Linux)

Question Number : 10 Question Id : 25498929863 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an example of an input device of a computer?

Options :

1. # Keyboard

2. % Mouse

3. % Joystick

4. % Printer

Question Number : 10 Question Id : 25498929863 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fafied o @ & 91 HEex & §79¢ fSarsd &1 e 761 87
Options :

1. % Diars
2. % A3
3. % SOReH
4. ¢ iR

Question Number : 11 Question Id : 25498930313 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Which of the following is/are temporary memory storage device type of computer(s)?
(1) SRAM, (i1)) DRAM, (iii)) ROM

Options :

1. % Both (i) and (ii)

2. % Both (ii) and (iii)

3. % Both (i) and (iii)

4. % only (iii)

Question Number : 11 Question Id : 25498930313 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fFaffad & § B 91 e H1 SRRl AHR) TR fga5d UeR 8

(i) SRAM, (ii) DRAM, (iii) ROM
Options :

1. ¢ (i) 3R (i) &M

2. % (i) 3R (iii) T

3. % (i) 3R (iif) g

4. % $Had (iii)

Question Number : 12 Question Id : 25498930470 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In computing, TFT-LCD stands for

Options :

1. # Thick Film Transistor Lucent Crystal Display
2. % Thick Film Transistor Liquid Crystal Display
3. % Thin Film Transistor Liquid Crystal Display
4. % Thick Film Transistor Light Crystal Display

Question Number : 12 Question Id : 25498930470 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

ST H, TFT-LCD &1 g1 =u/37 &1 g2

Options :

1. #¥ Thick Film Transistor Lucent Crystal Display (% fthen giitﬂ%di c'ttl\{?I.C fopecd] %%‘-@1)
2. # Thick Film Transistor Liquid Crystal Display m e E’Iﬁw fofers fobeed %@ﬁ)
3. ¢ Thin Film Transistor Liquid Crystal Display (fI fthe ¢iforeR feifers fobeea fEw)
4. # Thick Film Transistor Light Crystal Display m fireg ET%IW drge foeed %@ﬁ)

Question Number : 13 Question Id : 25498930901 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is a mid-range computer that is intermediate in size, power, speed, storage capacity, etc., between a mainframe and a
microcomputer?

Options :

1. % Minicomputer

2. % Supercomputer

3. ¥ Personal Computer

4. % Desktop Computer

Question Number : 13 Question Id : 25498930901 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

?‘Eﬁ@ﬁﬁ@[ﬁ?@ﬂﬂ-%ﬁaﬂméﬁﬁm, Ifaa, TTfd, HSRUT & (Storage Capacity) 311G & H-IHH 3R HTSh! B & ad &1 gidl
?

Options :

1. ¢ Tt hgex

2. % YR BYR

3. % A LR

4. % 3WHCT HYLR

Question Number : 14 Question Id : 25498931014 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
3072 MB equals to

Options :

1. # 3KB

2. ¥ 3GB

3. % 3000KB

4. % 1024KB

Question Number : 14 Question Id : 25498931014 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

3072 MB & R G|
Options :

1. # 3KB

2. ¥ 3GB

3. % 3000KB

4. % 1024KB

Question Number : 15 Question Id : 25498931062 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The term 'bit' is taken from the word

Options :

1. ¥ Binary digit

2. % Boolean digit

3. # Bipolar digit

4. % Biased digit

Question Number : 15 Question Id : 25498931062 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Teg “fae (bit)” ot I oI T B



Options :

1. ¢ SR fSfSIe (Binary digit)

2. % qferg fSISTE (Boolean digit)
3. % §gUIeR f3foIe (Bipolar digit)
4. % IO%s fSfSIT (Biased digit)

Question Number : 16 Question Id : 2549898952 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which icon appears on the far right side of the taskbar when you are NOT connected to a wi-fi network in Windows 11?

Options :

Question Number : 16 Question Id : 2549898952 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



fFEIST 11 (Windows 11) H GTS-BTS Acde U Hide T8 611 IR CRPER & Tl GTE 3R BH-91 3 e aare?

Options :

Question Number : 17 Question Id : 2549899530 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following steps should one use to update the printer driver automatically in Windows 10?
Options :
1. # Home -> "Printer and devices" -> Right-click on the selected printer -> Select update printer

2. % Control Panel -> Right-click on the any printer -> Printer and devices -> Select Auto update printer

3. % Device Manager -> Expand the "Printers" category -> Right-click on the printer->Choose "Update Driver" -> Search automatically for updated driver
software

4. % Network -> Printer and devices-> Right-click on the selected printer -> Select automatically update printer



Question Number : 17 Question Id : 2549899530 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Windows 10 H, fliex SISaR & Wa1fdd ¥U ¥ (TS H- & fog Hafalad & 9 food =Rull &1 SuaiT -1 =g e?

Options :

1. % aﬂ->fﬁasﬁ?%a@a->awﬁafﬁaww-%ﬁ->&m@€ﬁaaﬁ

2. % FHeld OAd -> foradt ot filer W Ige-faas &Y > filer SR fearzay > sifel sude fiier g+

3. ¢ fSaEY AAoR -> fifex 90ft &1 faaR & > fifer IR Age-faas o -> 3use SBaR TH -> 3UScS S3aR AIFeaiR & oy aeferd =0 § Wiel
4. % qeqd > e SR fEaae -> 9afd fifer W Ige-fFae o -> Tarfad 9 ¥ 3uSe fHiex &1 a1 &%

Question Number : 18 Question Id : 2549899621 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A printer's network IP address in Windows OS can be determined through the

Options :

1. * printer manual

2. % device driver

3. % Control Panel

4. % onboard printer menu

Question Number : 18 Question Id : 2549899621 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

S oiius i fifex &1 Acad st vgw & w1 9 Fyiia fear on g2 |

Options :

1. # fiex Igama

2. * fSag gRR
3. ¢ &eld Ud

4. % IS e A

Question Number : 19 Question Id : 25498911144 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Which of the following software is required to combine and compress multiple files and folders into a single file?
Options :

1. ¥ Winzip

2. % Adobe Acrobat Reader

3. ¥ MS-Paint

4. % Adobe Acrobat Writer

Question Number : 19 Question Id : 25498911144 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

TSRS BIsdl 3R Bies &l Th Bied H JUfod 3R Juifed o & e Fufafad 7 9 fog gitedar &) sawgsdr gidl 82

Options :

1. ¢ fa=11eTT (WinZip)

2. ® Q@ﬁa wa'c’ IS (Adobe Acrobat Reader)
3. % THUY-UC (MS-Paint)

4, % Q_épl_d Wﬁf RISCX (Adobe Acrobat Writer)

Question Number : 20 Question Id : 25498913497 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which type of disc is a Blu-ray disc?

Options :

1. # Magnetic

2. ¢ Optical

3. # Mechanical

4. % Electrical

Question Number : 20 Question Id : 25498913497 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

X fow ford TR &1 fex /2
Options :




1. % gadbIg
2. ¢ 3P
3. % ABfFEd
4. % gafdcdhd

Question Number : 21 Question Id : 25498913524 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following access types is used for magnetic tapes?

Options :

1. ¥ Random access

2. % Direct access

3. % Sequential access

4. % Step mode access

Question Number : 21 Question Id : 25498913524 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

JID I ¢U BT IUANT T & 9 & 9 ford TR o forg fowa St &2
Options :

1. % YSH TR

2. % SN TR

3. ¢ e Rgd TRy

4. % LI HIS TR

Question Number : 22 Question Id : 25498918515 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following sequence is used to set a default printer in Windows11?

Options :

1. ¥ Go to Bluetooth & devices > Printers & scanners > select a printer. Then select Set as default.



2. # Go to My Network Places > Printers & scanners > select a printer. Then select Set as default.
3. # Go to Desktop> Printers & scanners > select a printer. Then select Set as default.

4. % Go to Downloads > Printers & scanners > select a printer. Then select Set as default.

Question Number : 22 Question Id : 25498918515 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Windows11 H fghiee fliex e w5 & fore FRuferfad & T g w0 &1 Iuan fear Sirar g2

Options :

1. ¢ "sgy 3R fSargg" R S > fiier iR TR WO > fifer g | fR " fewiee & =0 H T B gH|
2. % "OTg e TG TR Sd> "fifex 3R TR IR WY > fifex g | fhR fSwiee & w0 H I w3 TH|
3. % "SWpea" W AN > "IeR iR TR W oM > Hex g1 IR "feWiee & 9 d I HL" FH|

4. % "I3IAIS" T oM > "fifer 3R IR W MY > fifex gH| iR "fSWice & U & Je 3" A |

Question Number : 23 Question Id : 25498918543 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is the full form of NTFS which is developed by Microsoft?

Options :

1. ¥ New Technology File System

2. # New Technique for File System

3. # Non-windows Technology File System

4. % Non-cluster Technique for File System

Question Number : 23 Question Id : 25498918543 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

NTFS &1 Q0 %0 &1 § Sl Argshiaite gR1 faswRid forar mar g2
Options :

1. ¥ New Technology File System (?ELEOP'I\I SIS lgd ﬁl@)

2. ¥ New Technique for File System (]] ¢ b BIR BIed RICH)




3. # Non-windows Technology File System (HT:T-%@G[ [CxINIS| hIgd ﬁlﬁ'q)
4. % Non-cluster Technique for File System ("IT"I—OK'NCQ CHiDh IR BT @l@)

Question Number : 24 Question Id : 25498922636 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A "clean boot" starts Windows with

Options :

1. # only one driver and startup program

2. % a maximum set of drivers and startup programs

3. % a minimal set of drivers and startup programs

4. # shutdown programs

Question Number : 24 Question Id : 25498922636 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

T el e fISie ! Y TRY AT 3

Options :

1. % Had U IER R WY TUTH

2. % IZARI 3R WIS Ul & 3ffhdH e
3. ¢ ZIER] 3R WIESU YA & FAaH I
4. % YIYTH] &I YT SIS B




Question Number : 25 Question Id : 25498924017 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following options is used to customise the look and feel of the desktop in Windows 10?

Options :

1. ¥ Personalise

2. % Refresh

3. # View

4. #* Customise

Question Number : 25 Question Id : 25498924017 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fFSIST 10 (Windows 10) H STHCIT & TREY B HIerd B & forg Fufaiaa & 3 for faswey o1 IuanT fasar sidr g2

Options :

1. ¢ fﬁfﬂ?ﬂgﬂ (Personalise)
2. % W(Refresh)

3. % Y (View)

4. % HICHIFS (Customise)

Question Number : 26 Question Id : 25498924318 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

With respect to computer booting, MBR stands for:

Options :

1. * Master Boot Recovery

2. % Memory Boot Recovery

3. % Memory Boot Record
4. % Master Boot Record

Question Number : 26 Question Id : 25498924318 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



HER 9T & &y T, MBR BT 31 g
Options :

1. ¥ HRSX Y o] (Master Boot Recovery)
2. % HURY qc Repast (Memory Boot Recovery)
3. % AR qc fopis (Memory Boot Record)

4. % HRX Rois (Master Boot Record)

Question Number : 27 Question Id : 25498924492 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A Microsoft Excel 2019 file has a format by default.

Options :

1. % s

2. % xl1

3. % xlsx

4. % wks

Question Number : 27 Question Id : 25498924492 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Microsoft Excel 2019 WhIgdd T fShiee =7 @_Wfﬂ?ﬂ%l
Options :

1. % s

2. % xl

3. % xlsx

4. % wks

Question Number : 28 Question Id : 25498925348 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

When you put your computer into hibernation:

Options :



1. % everything on the computer is saved on the hard disk
2. % everything on the computer is saved on Random Access Memory
3. % everything on the computer is saved on a compact disk

4. % everything on the computer is saved on a digital versatile disk

Question Number : 28 Question Id : 25498925348 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

TS 3T 3T LR H GIIIRATA & STerd 7, al |

Options :

1. ¥ $HR W G $S 818 (S A Ad gl g

2. ¥ HYI W Yd $&S Random Access Memoryfféaépl?ﬂ%
3. % HYR R Id $S U HIAae (53 H Ud BIdl §

4. * SR R I 5O T [$iee adersd fews § g giare

Question Number : 29 Question Id : 25498940411 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following bugs occur when a software application does not function correctly across different environments, devices, or platforms?
Options :

1. % Performance

2. % Logical

3. % Security

4. ¥ Compatibility

Question Number : 29 Question Id : 25498940411 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fafaRad & @ S I 911 (Bug) T9 i1 8 O1d Us A1 atR Ui fafid ararearun, Iusul a1 WehTH! IR T8t &1 9§ H1H gl HRdl 82

Options :

1. % RBRAY




2. % Qi
3. % it
4. ¢ HHfeaferdt

Question Number : 30 Question Id : 25498940552 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is an unexpected problem with software or hardware?

Options :

1. ¥ Bug

2. % Patch

3. % Update

4. % Configuration

Question Number : 30 Question Id : 25498940552 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

TICaR I Glsraq‘i T gnrd (Unexpected) HIT RT %?
Options :

1. ¥ §1T (Bug)

2. % U (Patch)

3. % 3[0sc (Update)

4. % DHIPIRIA (Configuration)

Question Number : 31 Question Id : 2549896993 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
What is the result of the following function in MS-Excel 2019?

=SUM(A, 1, 2, 3)
Options :
1. % 6



2. #® #VALUE!
3. ¥ #NAME?
4. % 16

Question Number : 31 Question Id : 2549896993 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 & fRuferfad thawe &1 ufvumg & g2

=SUM(A, 1, 2, 3)
Options :

1. % 6

2. % #VALUE!
3. ¥ #NAME?
4. % 16

Question Number : 32 Question Id : 2549897363 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is an HTTP web server?

Options :

1. % Apache

2. % Perl

3. ¥ Fedora

4. % Lucene

Question Number : 32 Question Id : 2549897363 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fFoffed # 9 SH-9T HTTP 99 HoR 82

Options :

1. ¢ 3T (Apache)



2. % T (Perl)
3. % ﬁ?_SﬁT[(Fedora)
4, * W(Lucene)

Question Number : 33 Question Id : 2549899076 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A/An' ' refers to an electronic device that allows an individual to make electronic commerce transactions.
Options :

1. ¢ digital wallet

2. % offline wallet

3. * mobile card

4. ® data wallet

Question Number : 33 Question Id : 2549899076 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

' ' TH FAGI D SUBRUT B! HaHd BT § ol [h 4! e DI SAICD DHIAY e B grauT Sar g

Options :

1. ¢ fefored diae
2. % 3Har dide
3. % OESd IS
4, % gerdide

Question Number : 34 Question Id : 2549899188 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What type of application will assist you in locating specific information on the Internet?

Options :

1. ¥ Search engine

2. % Domain Name System



3. # Index page

4. % Social media

Question Number : 34 Question Id : 2549899188 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

g R fAfR1Y TS RY ger # [T UhR &1 URIHRH P! Jgdl Hem?

Options :

1. ¢ QI g0 (Search engine)

2. % SIAF 97 RICH (Domain Name System)
3. % TSR U (Index page)

4. % =1 HfSAT (Social media)

Question Number : 35 Question Id : 25498912510 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In MS-Word, dividing a document into pages and numbering them is called

Options :

1. # Formatting

2. % Orientation

3. # Styling

4. % Pagination

Question Number : 35 Question Id : 25498912510 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MS-Word ¥, frf} Gxa1ael &1 g8} (Pages) H TauIira A1 3R I8 shiford & HEAd g |

Options :
1. % YRSUUT (Formatting)
2. % NI (Orientation)

3. % I (Styling)




4.+ J¥ R 3{ch T (Pagination)

Question Number : 36 Question Id : 25498913343 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In MS Word 2019, the keyboard shortcut ‘Ctrl+U’ on a selected text is used to
Options :

1. ¥ apply underline formatting

2. % convert to uppercase

3. % toggle between lowercase and uppercase

4. % yndo the previous action

Question Number : 36 Question Id : 25498913343 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 H, Ifd TRe R dlals Yedhe 'Ctrl U' BT ITINT ¥ fomu frar Sar g |

Options :

1. ¥ SISIATS BIH T AN A

2. % RHY H HIaC B

3. % TIRPY 3R AWRBY & d1F T HA
4. * OB RS gdad B

Question Number : 37 Question Id : 25498919183 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is the error value corresponding to the MS-Excel 2019 formula '=D1/0"if D1 contains value 5?
Options :

1. ¥ #DIV/0!

2. ¥ #NAME?

3. ¥ #REF!

4. ® #NULL!



Question Number : 37 Question Id : 25498919183 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

gfe D1 H UM 5§ Al MS-Excel 2019 BIHa '=D1/0' & =Y Ffe HAH FT 82
Options :

1. ¢ #DIV/0!

2. % #NAME?

3. % 4REF!

4. % #NULL!

Question Number : 38 Question Id : 25498919214 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Copy, cut and paste operations in MS Word 2019 are typically supported using a buffer called

Options :

1. * Briefcase

2. % Cache

3. % Clipboard

4. ® Recent Files

Question Number : 38 Question Id : 25498919214 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 H Td), ®e 3R Ue STIRTM STHIR TR TH TR BT SUANT b FHRId Bl B

Options :

1. % W(Briefcase)

2. % %QT(Cache)

3. ¢ foquars (Clipboard)

4, # ‘s’raaﬁtﬁrs'?f (Recent Files)

Question Number : 39 Question Id : 25498925242 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Which keyboard shortcut is used to do Change Case of selected text in MS-Word 2019?
Options :

1. ¢ Shift + F3

2. * Shift + F4

3. * Shift + F7

4. % Ctrl + F3

Question Number : 39 Question Id : 25498925242 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 H 9gfd TRe (Selected Text) & Change Case %@ g P Widwe 1 IuanT fvar Siran %?
Options :

1. % Shift + F3

2. % Shift + F4

3. % Shift + F7

4. % Ctrl + F3

Question Number : 40 Question Id : 25498925280 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is not an operating system for smartphones?

Options :

1. # Symbian

2. % Fedora

3. % i0S

4. % Android

Question Number : 40 Question Id : 25498925280 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

g T P AT TLCHH & fag TR Rren 78 72

Options :




1. * fftT (Symbian)
2. ¢ ekl (Fedora)
3. % 33T (i0S)

4. % TSISS (Android)

Question Number : 41 Question Id : 25498925339 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In MS- Word 2019, portrait means the page is oriented

Options :

1. * horizontally

2. ¥ vertically

3. % diagonally

4. % ypside down

Question Number : 41 Question Id : 25498925339 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MS- Word 2019 B, Qe BT AdaE g fb 001 IW g

Options :

1. % afad (horizontally)

2. ¢ JGRR (vertically)

3. % fq@mula: (diagonally)

4. % 3l (upside down)

Question Number : 42 Question Id : 25498933794 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following keyboard shortcuts is used to quickly apply the default date format in MS-Excel 2019?

Options :

1. * Ctrl + Shift +»



2. % Ctrl + Shift + %
3. % Ctrl + Shift + #
4. % Ctrl + Shift + @

Question Number : 42 Question Id : 25498933794 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

THUY-TRId 2019 H fEWiee f&Hid Urey &l @afd 4§ a6 & forg Fafaied § @ fey o161 Wicehe &1 Iui foar Sirar g2
Options :

1. * Ctrl + Shift +

2. ® Ctrl + Shift + %

3. % Ctrl + Shift + #

4. % Ctrl + Shift + @

Question Number : 43 Question Id : 25498938412 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Some parts of a web page are associated with links to other pages in the form of a piece of text, icon, image, and so on associated with another page is called
a

Options :

1. ¥ browser
2. % URL

3. % hyperlink

4. #* cookies

Question Number : 43 Question Id : 25498938412 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

AU P TS e TR, HSH, DA F ghe & ©U H 37 Uall & i T S 8l €, 3R S ae gk U ¥ IS e &l FHET AT g |

Options :
1. #* I3V (Browser)
2. ¥ Y3RUA (URL)




3. ¥ BI3WRIdi® (Hyperlink)
4. % W(Cookies)

Question Number : 44 Question Id : 25498942488 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The value of the MS-Excel 2019 expression =SUM(-7, 18/6/3) is:

Options :

1. % 6

2.9 -6

3.%2

4, % 2

Question Number : 44 Question Id : 25498942488 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

MS-Excel 2019 TSI = SUM(-7, 18/6/3) BT HM gl
Options :

1. %6

2.9 6

3.% )

4.%

Question Number : 45 Question Id : 25498942492 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an example of a web browser?

Options :

1. % MS Office

2. # Google Chrome

3. % Microsoft Edge

4. % Opera



Question Number : 45 Question Id : 25498942492 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fafafEd 7 ¥ S1H-91, 39 TSR BT TP IS8R0 Ta! 82

Options :

1. ¢ THTY 3y (MS Office)

2. % T %I (Google Chrome)

3. % HIZHINGIUC TSl (Microsoft Edge)
4. % 3IURT (Opera)

Question Number : 46 Question Id : 25498942513 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is the correct sequence of steps to hide only the third row of an MS-Excel 2019 worksheet?

Options :

1. # Select rows 2 and 3 -> Right click on selection area -> Click on hide option

2. % Select rows 2, 3, and 4 -> Right click on selection area -> Click on hide option

3. # Select rows 3, and 4 -> Right click on selection area -> Click on hide option

4. ¢ Select rows 3 -> Right click on selection area -> Click on hide option

Question Number : 46 Question Id : 25498942513 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

THTY-TEH 2019 GhRITe Bt had aias) Ufad (row) B f3UM & forw =Roil &1 98t 1 Ry & T S-a1 32

Options :

1. % 2 3R 3 BT I B qYT I &F W 3 [ B 3R BIES (hide) f[dhed R faae w3
2. % 2,3 3R 4 H I B qYT I &F W 3 fadd B9 3R BIES (hide) f[dved R fFae w1
3. % Y3 3R 4 BT IT B TUT I &7 W IZC fFAD B 3R 83T (hide) fahed IR faass H¥ |
4.+ 3 BT I B IYT T &F WR I3 fFdd B 3R 818 (hide) fadved R fFaes w3 |

Question Number : 47 Question Id : 25498942517 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

If you want to edit a cell in a spreadsheet in MS-Excel 2019, the function key is used.

Options :
1. ® Fl
2. ¥ F2
3. % F9
4. % F5

Question Number : 47 Question Id : 25498942517 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

g 3T MS-Excel 2019 & W2ie H fordht A ol YUl d (Edit) SATIRAR, A Ha=H ot &1 YA fhar S g
Options :
1. % Fl
2. ¥ 2
3. % F9
4. % Fs

Question Number : 48 Question Id : 25498942533 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If you want to use formulas or functions in MS-Excel, then the formula or function should always begin with which of the following symbols?
Options :

1. = |

2. % %

3.% §

4. =

Question Number : 48 Question Id : 25498942533 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

g 3T MS Excel H HIHAN I1 ek &1 SUART ST 918 &, dl Bre 1 havH saen Hgfafad # ¥ fog Risa 9 == gF1 9w




Options :
1. %1
2. % %
3.% 8§
4. =

Question Number : 49 Question Id : 25498942537 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Deepak is a Grade V student. He wants to prepare a chart of the population in 4 cities for 4 different years.

Which of the following charts/graphs in MS-Excel 2019 should he use to visualise the trend of population growth in all four cities?
Options :

1. * Pie chart

2. ® Cone chart

3. % Line chart

4. ® Surface chart

Question Number : 49 Question Id : 25498942537 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

e UiEdl HefT BT BT § | 98 4 ITHT-31THT I8 & Il 4 TERY P SIS &1 U ITE dIR SR el 3|
Tt IR RERT & ST gfg B UG B g/ & ol S/ MS-Excel 2019 H FHfiad & 9 ford A1¢/4Th ST SUART ST AT T2

Options :

1. % U5 91

Question Number : 50 Question Id : 25498942547 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Suraj wants to save a new workbook in MS-Excel 2019. Which of the following keyboard shortcuts should he use?
Options :

1. % CTRL +1

2. % CTRL+B

3. CTRL+S

4, % CTRL+V

Question Number : 50 Question Id : 25498942547 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

IS MS-Excel 2019 B T 71§ dh gD ool (save) AEAT ¢ | S HHTRId & I {6y Biale Alcdhe BT ITART BT AMGT?
Options :

1. % CTRL+1

2. % CTRL+B

3. CTRL +S

4.% CTRL+V

Question Number : 51 Question Id : 25498942558 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Anil wants to know the total number of numeric values in a column in MS-Excel 2019 worksheet. Which of the following functions should he use?
Options :

1. * IF()

2. % COUNT()

3. ¥ SUM()

4. % AVG()

Question Number : 51 Question Id : 25498942558 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

3T MS-Excel 2019 THRITC H T DI H IS I 1 Ha T ST I18d & | 39 FafaRad & 9 ford TR &1 ITINT =1 a1fee?

Options :




1. % IF()

2. ¥ COUNT()
3. % SUM()

4. % AVG()

Question Number : 52 Question Id : 25498942562 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
In MS-Excel 2019, given picture is an example of a

i~ A

~ Sales: o

Ty v . . mlamesPedro
4 © 0 mlindaLogen
\ , L8 Adom parier

£ % musbrasplin ®

J.  #Tanwirlohn
2 & Caron Bay
» Shane Hunter

Options :

1. ¥ Pie chart
2. % Bar chart
3. # Line graph
4. % Cone chart

Question Number : 52 Question Id : 25498942562 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



MS-Excel 2019 H, €t T8 d&R P Th IS0 2|
; = Vs

~ Sales:

o e

e v W = James Pedro
) . V- & “lunﬁtugan_
L s Adam Parker

® Laura Smith

J. #Tanwirichn
J-" . ® Caron Bay
" mShane Hunter
©p Brigate sear
Options : N -
R
2. % R
3. % A1 UT%
4. % HH AL
READING COMPREHENSION
Section Id : 2549898507
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1

Section MarKks : 5



Display Number Panel : Yes

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549898548
Question Shuffling Allowed : No

Question Id : 25498921355 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Pattern Type : NonMatrix

Question Numbers : (53 to 57)
Read the given passage and answer the questions.

Tolerance

Tolerance is the special need of the day in India because of the diversity present here. There are thirty-six States and Union Territories. Indians follow more
than six religions, with each religion having several sub-sects. They speak more than 22 officially recognised languages. Even when they speak the same
language, English for example, the accent in northern India is different from the one in southern India. People follow different dress codes and different
social customs. They have different food habits and celebrate their festivals with a distinct local flavour. This cultural diversity not only adds to the richness
of India but can also be an instant flashpoint. So, we need to practice tolerance more than any other people.

Tolerance may simply be defined as ‘putting up with what we do not like’. It is a rather passive quality because it demands no action. But it is a heavenly
virtue because it is the only way to achieve peace and harmony in the world. We must realise that if there had been more tolerance, there would have been
no wars. Human society would have been far more advanced than what it is today.

Let us read an interesting incident from the life of Saint Eknath who was known for his tolerance. One day Eknath was returning to his hut after an early
morning dip in the holy Ganga. A wicked neighbour lay in wait for him. He climbed up a tree and just when Eknath passed by, he spat on him. The saint
went back for a bath without a word to the neighbour. Again, the wicked man repeated his prank. Anyone in Eknath’s place would have got angry but

Eknath kept his cool. He returned to the river for another dip. It is said that the wicked man spat on Eknath more than a dozen times but Eknath did not
react.

Finally, the wicked man felt ashamed of his deed and fell at Eknath’s feet, asking for forgiveness. Eknath smiled and thanked him for the opportunity of
having a holy dip more than a dozen times. “This episode has helped me to become a better human being,” said Saint Eknath.

Sub questions

Question Number : 53 Question Id : 25498921356 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Indians follow different religions. This is a sign of:



Options :

1. % unity

2. # enmity
3. ¥ diversity

4. % discrimination

Question Number : 54 Question Id : 25498921357 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Tolerance is a heavenly virtue because:

Options :

1. # itis found only in saints

2. ® it needs no action

3. ¢ it ushers in peace and harmony

4. ® it makes us put up with wickedness

Question Number : 55 Question Id : 25498921358 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

According to the passage, if people had been more tolerant, there would have been:

Options :

1. # more instant flashpoints

2. % Joss of peace and harmony

3. ® greater cultural diversity

4. % no wars

Question Number : 56 Question Id : 25498921359 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Saint Eknath thanked his neighbour for:

Options :

1. # spitting on him several times

2. % making him keep his cool



3. ¥ making him bathe again and again

4. * falling at his feet in repentance

Question Number : 57 Question Id : 25498921360 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What can we conclude from Eknath’s episode?

Options :

1. * Eknath was a timid man.

2. #* Eknath had no self-respect.

3. % Tolerance can win over wickedness.

4. * Wickedness makes one powerful.

Question Id : 25498921355 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Pattern Type : NonMatrix

Question Numbers : (53 to 57)
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Sub questions

Question Number : 53 Question Id : 25498921356 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

YR faftre ot o1 ute BRd § | U8 fhaeT ddbd 82
Options :

1. % Tohdl

2. % R

3.« fafaedn

4. % YgYE

Question Number : 54 Question Id : 25498921357 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

W[ Teh HETH 01 Rl 82

Options :

1. * ifos g Il § UrT ST 8

2. * Fifb 3T U o i B BI 3Tazudar TS a1 2
3. ¢ i 3P GRT i 3R TagTd AT off el §

4. % I 399 g gBl A gobraer B § gerrdr firerd 2

Question Number : 55 Question Id : 25498921358 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

TR & TR, TS T 31feres afgw] 81, o




Options :

1. % QT i cfigd ¥ Iiford gl
2. % i SR gERYdT el gicht

3. % 3% Fikplad fafaerd grat
4. ¥ GG BB

Question Number : 56 Question Id : 25498921359 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Td THATY A 30 TSI ol fhafere y=garg feam
Options :

1. % 3T R B3 §R Y& & g

2. % I¢ U Sk ik o7 § eIl B & 1T
3. ¢ 35 IR-GR W B BT 3T ¢+ & ol

4. % YIAY A 39 W R fIRA & forw

Question Number : 57 Question Id : 25498921360 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

THTY Bt B! A 8H T (P HbTd Tbd 82

Options :

1. % UHTY Uh SUIP Ao o

2. % UHTY B PHls A T el ol

3.  WIRWIAT gFaT TR faor UTd o Tebell B
4. % gyAl fdd ) FfGa=Te’ ST §

QUANTITATIVE APTITUDE
Section Id : 2549898508
Section Number : 3

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6

Display Number Panel : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549898549
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498928881 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What approximate value will come in place of the question mark (?) in the following equation? (You are expected to calculate the nearest integer value.)

151.011 —419.999 + 649.991 =?
Options :
1. % 350
2. % 365
3. % 375
4. % 380

Question Number : 58 Question Id : 25498928881 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

frafeiad Ttz & s fog (2) & R IR S I SHING A ST (MUY fAdead quiies T &1 T0MT 6 Bt 308 B SiTd 8 )

151.011 —419.999 + 649.991 =?
Options :
1. * 350
2. % 365
3. % 375
4. % 380



Question Number : 59 Question Id : 25498928967 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

128;, then find the value of x({to the nearest integer value)

If = =
49

Options :
1. % 4200
2. % 4100
3.9 4210
4. % 4350

Question Number : 59 Question Id : 25498928967 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

gic = = Z2F, Al xS HH 1 B (Haean quiie wH da)

Options :
1. % 4200
2. % 4100
3.9 4210
4. % 4350

Question Number : 60 Question Id : 25498929049 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What will come in place of the question mark (?) in the given number series?
123 140 106 157 89 ?

Options :

1. % 214



2. % 139
3. % 198
4.9 174

Question Number : 60 Question Id : 25498929049 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

fafof@a & y@en § IeaREd (?) & T W a7 A?

123 140 106 157 89 ?
Options :

| % 214
5 % 139
s % 198

L v 174

Question Number : 61 Question Id : 25498929124 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The average of the three numbers x, v and z is 120. If the largest number is 140 and the difference between the
other two numbers is 40, then what is the smallest number?

Options :
v %0



, % 100

s x 110

4 % 120

Question Number : 61 Question Id : 25498929124 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

e gEImHt x, y 3T z &7 Awa 120 g1 o mew S gEam 140 § AT 3w & gt F §ey Haw
40 &, O TeQ oY oI F4T B2

Options :

1.v 90

, % 100
3 % 110

4 % 120

Question Number : 62 Question Id : 25498929536 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Apoorv sold an article at 20% profit on its cost price. Afterwards, when the cost price is reduced by 10%, the selling price was also reduced by 4%. Now,
his profit percentage on the cost price will be:

Options :

v 28%



331W
2. % 37

L 35%

3?l@f
gx 27

Question Number : 62 Question Id : 25498929536 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

31Yd - Teh I 1 I TN Hed W 20% WTH TR S| §1& H, SFe AN Hed 10% DH §1 71, ot s Jea Hi 4% & g1 7111 316, AT Hed R
JYHT ATH Ufd=Td gRT:

Options :

28%

1. ¢

331?f
2% 37

+  35%

3?qu
sx 27

Question Number : 63 Question Id : 25498929538 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



The marked prices of a pencil and a pen are in the ratio of 1 : 2. The shopkeeper gives 40% discount on the pencil. If the total discount on the pen and pencil
is 30%, the discount offered on the pen will be:

Options :
1. % 18%
2. % 20%
3.9 25%
4. % 30%

Question Number : 63 Question Id : 25498929538 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Options :

| % 18%

5 % 20%

s v 25%

4 % 30%
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Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 25498910156 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Major' is related to 'Lieutenant' in the same way as 'Squadron Leader' is related to ' "

Options :

1. * Group Caption

2. # Flying Attendant

3. % Flying Officer

4. * Pilot Officer

Question Number : 64 Question Id : 25498910156 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 65 Question Id : 25498912938 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Each of the letters given below has been assigned a unique number. Select the combination of numbers such that the corresponding letters when arranged
accordingly will form a meaningful word.



AEHRKN
123456

Options :

1.43,1,6,5,2,4
2.% 4,1,5,3,2,6
3.%5,3,1,4,2,6
4. % 6,1,5,3,4,2

Question Number : 65 Question Id : 25498912938 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Options :

1.43,1,6,5,2,4
2.% 4.1,5,3,2,6
3.%5,3,1,4,2,6
4. % 6,1,5,3,4,2

Question Number : 66 Question Id : 25498919009 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Select the word from the options that is similar to the given set of words and hence belongs to the same group.
Daisy : Pansy : Rose

Options :

1. # Garden

2. % Tree

3. % Violet



4. % Red

Question Number : 66 Question Id : 25498919009 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Options :

1. % S

2. % g4

3. ¢ ST

4, % ol

Question Number : 67 Question Id : 25498919625 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Select the most appropriate description about the given set of words.

Stirrup : Anvil : Drum

Options :

1. # They are used by riders.

2. % They are parts of the ear.

3. #* They are musical instruments.

4. % They are used by folk artists.

Question Number : 67 Question Id : 25498919625 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Y Tsg T FT &1 faaRur o537 aral faded &1 9o Pifor|
W:Q‘%ﬁ:sﬂ

Options :




1. % g1 JUGNT AR gRT fbar S @
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Question Number : 68 Question Id : 25498919763 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Select the option that is true regarding the following two statements labelled Assertion (A) and Reason (R).

Assertion (A): Indian President is the head of the State.
Reason (R): Indian Parliament consists of President, Lok Sabha and Rajya Sabha.

Options :

1. ¥ Both A and R are true and R is the correct explanation of A.

2. ¥ Both A and R are true but R is not the correct explanation of A.
3. % Ais true but R is false.

4. % Ais false but R is true.

Question Number : 68 Question Id : 25498919763 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 25498927397 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

Select the option which satisfies the same conditions of placement of the dot as in figure shown here.

S

L ]
Options :
1. #®
2. % e




4. %

Question Number : 69 Question Id : 25498927397 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks :
wﬁwwwﬁﬁﬁw&hﬁa%wﬁg@%wﬁuhmﬁwmfﬁqﬁw%l

Options :

1. #®
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Question Number : 70 Question Id : 2549895381 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Bailadila Mines are in the state of

GENERAL AWARENESS

2549898510
5

Online
Mandatory

2549898551
Yes



Options :

1. % Odisha

2. % Tamil Nadu
3. % Chhattisgarh

4., % Assam

Question Number : 70 Question Id : 2549895381 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Options :

1. % 3nfgEm

2. % dieArg

3. ¢ SUNTG

4. % 3

Question Number : 71 Question Id : 25498912546 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which the following groups of items contain only biodegradable items?

Options :

1. % Wood, grass, plastic

2. % Wood, grass, leather

3. * Fruit peels, lime juice, pen drive

4. % Lime juice, grass, polystyrene cup

Question Number : 71 Question Id : 25498912546 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Options :
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2. ¥ dPbol, U, IHS]
3. % Td o e, AIg BT, U4 14
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Question Number : 72 Question Id : 25498912797 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Who was the partner of Leander Paes when he won the 'mixed doubles' at the US Open in the year 20087

Options :

1. % Ana Ivanovic

2. % Cara Black

3. * Dinara Safina

4. % Jelena Jankovic

Question Number : 72 Question Id : 25498912797 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Options :

1. % TAT 3aMIGT (Ana Ivanovic)
2. ¥ BRI KD (Cara Black)

3. % ¢RI YW (Dinara Safina)

4. % QT SHPIAD (Jelena Jankovic)

Question Number : 73 Question Id : 25498932036 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

With which of the following was Satyajit Ray associated?

Options :

1. ¥ Commercial art

2. % (Classical music



3. # (lassical dance

4. % Direction of films

Question Number : 73 Question Id : 25498932036 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Options :
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3. ¥ QAT I

4. ¢ forem fdeH

Question Number : 74 Question Id : 25498933669 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following political theories advocates the withering away of the state?

Options :

1. #® Capitalism

2. #* Fascism

3. % Marxism

4. % Democratic Socialism

Question Number : 74 Question Id : 25498933669 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 25498935917 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
The outer electronic configuration of copper is:
Options :

942
| 3d%s

, o 3d1%4s!

3dt?4s"

3. %

~ 3d'%4s?
4, %

Question Number : 75 Question Id : 25498935917 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Options :
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3. % 3d1%4sP



4 x 3d'04s2

Group Number :
Group Id :

Group Maximum Duration :
Group Minimum Duration :

Show Attended Group? :
Edit Attended Group? :
Break time :

Mandatory Break time :
Group Marks :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :
Display Number Panel :

Maximum Instruction Time :

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

English Mock

2
2549895329
5

5

No

No

1

Yes

English Mock

2549898511
1

Typing Test
Mandatory

2549898552
No
Yes



Question Number : 76 Question Id : 25498946188 Question Type : TYPING TEST Display Question Number : Yes Calculator : None

Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork, socializing,
decision making, independent and responsible living and more. It aids the overall development of a child and children have fun during this process
as they get to explore new arenas.
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Sub-Section Number : 1
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Question Number : 77 Question Id : 25498942570 Question Type : TYPING TEST Display Question Number : Yes Calculator : None

Different knifes are used for different tasks. It will help to have a basic working knowledge of the different parts of a knife. The very end of the
blade is called the point. This is usually sharpened to a fine point and can be used to pierce or score the surface of food. The blade is the name given
to the part of the knife which is used for cutting. It is usually crafted from steel. Although it may also be ceramic or titanium or even plastic. The
edge refers to the sharpened part of the blade. It is used for the majority of cutting work. The sharpness of the knife is dictated by how finely the
edge is ground. This will depend on both the quality of the knife and how often you sharpen it. It may be serrated or it may be straight. The front
part of the knifes edge just beneath the point is called the tip. It is the part of the blade which is normally used for delicate chopping and cutting
work. The spine is the blunt upper side of the blade and is opposite to the cutting edge. The thickness of the spine gives strength to blade as a rule,
the thicker the spine, the stronger the blade. Its also important for providing balance to the overall knife. The heel is the lower edge of the blade. It
is furthest from the tip and is next to the bolster. It is often the widest part of the blade. This part of the edge is most commonly used when the chef
needs more strength or pressure to cut through thicker or tougher foods. The tang is the unsharpened part of the blade which connects the blade
edge to the handle. The tang is vital to the overall balance and weight. It is also vital for stability and strength of the knife. The best knives are often
considered to be those with a full tang. The one which runs from the end of the blade all the way to the butt. The tang also functions as a handle is
some designs. The handle is the part of the knife grasped by the chef during use. It is sometimes also called as scales. It can be made from a number
of materials. It may be straight or designed with finger grooves and other ergonomic features that make it easier to hold. Some knife manufacturers
will dispense of the handle altogether. Instead creating a knife using a single piece of steel so that the tang also functions as a handle. The bolster is
the raised area between the blade and the handle. It puts a small space between the hand of the chef and the blade and to stop the fingers from
slipping down onto the blade during cutting work. It also provides additional weight to help balance the knife. These are the rivets or screws which
fix the handle parts to the tang. Less expensive designs may forego the rivets and attach the handle to the tang using resin or epoxy instead. Butt is
the name given to the end of the handle and at the very bottom of the knife. Knifes can be forged or stamped. There is a difference in the making of
these two.
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